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Type  0  Exercise  0 : ) 

If one heats ice, it melts. 

1.One can infer from the statement that----. 

A) whenever ice is heated, it melts 

B) ice may melt when it is heated 

Type 1 

Exercise  1 

If you are experiencing intense emotional distress and 
need immediate advice, you should call your best friend. 

1. One can infer from the statement that----. 

A) It is likely that you have intense emotional distress now 

B) It is unlikely that you have intense emotional distress now 

2.One can infer from the statement that----. 

A) you are advised to call your best friend now or soon 

 B) you should have called your best friend 

Exercise 2 

There are payments and services available to you if you 
experience severe financial hardship. 

1. One can infer from the statement that----. 

A) you definitely went through a financially difficult time 

B) you could be going through a financially difficult time  

2.One can infer from the statement that----. 

A) you can benefit from some facilities to overcome financial 
hardship 

 B) you have to use only one option to overcome financial 
hardship 

Exercise 3 

The EU is considering giving the billions it promised to 
Turkey to Greece instead, in case the deal agreed with 
Ankara to stop the refugee flows collapses. 

1.One can infer from the statement that----. 

A) Turkey will definitely receive the billions depending on the 
success of the deal 

B) Turkey may not receive the billions depending on the 
success of the deal 

 2.One can infer from the statement that----. 

A) The EU has a fixed and prejudiced attitude towards Turkey 
and the deal with her 

B) The EU is just flexible and wants to see all options on the 
table 

Type 2 

Exercise 4 

If Finland joined NATO, it would provoke a "serious crisis" 
with neighboring Russia. 

1.One can infer from the statement that----. 

A) Finland is a member of NATO 

B) Finland is not a member of NATO 

 2.One can infer from the statement that----. 

A) there is a "serious crisis" with neighboring Russia 

B) there is not a "serious crisis" with neighboring Russia 

3.One can infer from the statement that----. 

A) a crisis may be triggered by an action by Finland 

B) a crisis may be triggered by an action by Russia 

Exercise 5 

If Sweden alone were to join NATO, Finland would be 
more vulnerable than it currently is . 

1.One can infer from the statement that----. 

A) either Sweden or Finland is a member of NATO 

B) neither Sweden nor Finland is a member of NATO 

 2.One can infer from the statement that----. 

A) currently Finland is vulnerable 

B) currently Sweden is vulnerable 

C) currently neither Sweden nor Finland is vulnerable 

 

Exercise 6     (Type 1 kıyaslama için) 

If military infrastructure draws close to Russian borders, 

Russia will naturally take the necessary technical-military 
measures. 

1.One can infer from the statement that----. 

A) military infrastructure drew close to Russian borders 

B) military infrastructure could draw close to Russian borders 

 2.One can infer from the statement that----. 

A) Russia is reluctant to take the necessary technical-military 
measures 

B) Russia is ready to take the necessary technical-military 
measures 
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Type 3 

Exercise 7 

If Hitler had not lost the war, more people could have been 
killed. 

1.One can infer from the statement that----. 

A) Hitler was able to win the war 

B) Hitler failed to win the war 

 2.One can infer from the statement that----. 

A) many lives might have been lost due to a prolonged war 

B) many lives can be lost due to a prolonged war 

Exercise 8 

If Barcelona FC had played as well as it did in the past 
season, it would not have missed the league title this year. 

1.One can infer from the statement that----. 

A) Barcelona FC played well in the last season 

B) Barcelona FC did not play well in the last season 

 2.One can infer from the statement that----. 

A) Barcelona FC became the champion last year 

B) Barcelona FC became the champion this year 

C) Barcelona FC  could have become the champion this year 

Exercise 9 

If economic and legal steps had been taken in Greece, the 
crisis could have been avoided. 

1.One can infer from the statement that----. 

A) it was possible to prevent the crisis 

B) there was no way of avoiding the crisis 

 2.One can infer from the statement that----. 

A) Greece took necessary steps in economy 

B) Greece was going to take necessary steps in economy 

 

  

 


